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[4]
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1.11

Fr = 1.500 m

Fr = 1.500 m

1.000 m, Fi
\\M

1.500 m, Fi

)
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5.700
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1.12
1.13
1.13.1
CB  (kN/m) 0.000
tang . 0.577
1.14
1.14.1
€s B
(m) (KN/m?)
1/6 1.500 200.000 1.100
1/6 1.500 200.000 1.100
1/6 1.500 200.000 1.100
1/3 1.200 300.000 1.000
B (m)
€s (m) es Mg V
Me (kN.m)
% (kN)

FORUMS8
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€))

D

2)

(N/mm?)
O O s Ta T =
1.00 8.000 176.000 0.420 | 1.600
1.00 8.000 176.000 0.420 | 1.600
1.00 8.000 176.000 0.420 | 1.600
1.50 12.000 264.000 0.630 | 2.400
(N/mm?)
O O s T a T =2
1.00 8.000 176.000 0.420 | 1.600
1.00 8.000 176.000 0.420 | 1.600
1.00 8.000 176.000 0.420 | 1.600
1.50 12.000 264.000 0.630 | 2.400
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x x vi@m) Xi vi
1 0.300x 2.400x 1.000 0.720 4.150 1.700 2.988 1.224
2 1/2x 0.290x 2.400x 1.000 0.348 4.397 1.300 1.530 0.452
3 0.500x 1.000x  1.000 0.500 0.250 1.000 0.125 0.500
4 1/2x 1.000x 1.000x 1.000 0.500 0.833 0.833 0.417 0.417
5 4.590x 0.500x 1.000 2.295 2.295 0.250 5.267 0.574
z 4.363 10.327 3.167
X6 X Vi Xi T Vi 10.327  4.363 2.367 (m)
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™ Vi Xi Vi Yi
x x Vi(ma) X vi 1 1 1 1
1| 1/2x 0.121x 1.000x 1.000 0.060 4.550 1.167 0.275 0.070
> 0.060 0.275 0.070
X6 = Vi Xi  ZVi 0.275  0.060 4.550 (m)
YG > Vi Vi > Vi 0.070 0.060 1.167 (m)
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1
1
P
o
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P
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' N J
| |
| |
U R, J
2)
™ Vi Xi Vi Vi
=3 1 1 1 1
x x vi(m) Xi Yi
1| 1/2x 0.157x 1.300x 1.000 0.102 4.538 1.367 0.463 0.140
> 0.102 0.463 0.140
XG > Vi Xi 2 Vi 0.463 0.102 4.538 (m)
Y6 I Vi Yi  ZVi 0.140  0.102 1.367 (m)
)
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| !
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| N | \
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x x Vi(ms) i vi 1 1 1 1
1 0.500x 0.300x 1.000 0.150 0.250 1.650 0.038 0.248
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(m) L. .
< < vi(m) % Vi Vi Xi Vi Vi
> 0.150 0.038 0.248
X6 = Vi Xi o ZVi 0.038  0.150 0.250 (m)
YG > Vi Vi > Vi 0.248 0.150 1.650 (m)
€)
[1] ( )
D
B
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| |
| 1 \
I 2 !
! \
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™ Vi Xi Vi Yi
x x Vi(ma) i vi 1 1 1 1
1| 1/2x 0.900x 0.900x 1.000 0.405 1.200 1.100 0.486 0.446
2 2.500x 0.900x 1.000 2.250 2.750 0.950 6.188 2.137
> 2.655 6.674 2.583
XG > Vi Xi > Vi 6.674 2.655 2.514 (m)
Y6 T Vi Yi o ZVi 2.583  2.655 0.973 (m)
2.3
@
[1]
Wy v X
(kN) (m)
24.500 x 2.068 50.666 2.447
24.500 x 2.295 56.228 2.295

FORUMS8
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)
[1] ( )
1)
Hf=1.500 Hr=1.500
v -+
Pf=15. 000 Pr=15. 000
Hf 1.500 (m)
Hr 1.500 (m)
Pf 15.000 (kN/m2)
Pr 15.000 (kN/m2)
Pf+Pr ,
U = ) *Bj+*Bc+ A = 68.850 (kN)
Pf+2 - Pr )
X = ——"——.Bj = 2,295 (m)
3« (PT+Pr)
Bj Bj 4.590 (m)
Bc Bc 1.000 (m)
A A 1.000
[2] ( )
1)
Wy Vv X
(kN) (m
( )| 10.000 x 2.655  26.550 2.514

FORUMS8
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2)

Hf=1.800 Hr=1.800
. A v
= Fi=0.900 =
S
Pf=18.000 Pr=18. 000

Hf 1.800 (m)
Hr 1.800 (m)
Pf  18.000 (kN/m?)
Pr 18.000 (kN/m?)
Pf+Pr
U= p “Bj+Bc+ A = 82.620 (kN)
Pf+2 « Pr )
X = ——"—"—+*Bj = 2.295 (m)
3« (Pf+Pr)
Bj Bj 4.590 (m)
Bc Bc 1.000 (m)
A A 1.000
[31 ( )
1)
Hr=1.500
>
Hf=1.000
X
P£f=10. 000
Pr=15. 000

Hf 1.000 (m)
Hr 1.500 (m)

FORUMS8
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®
[1]

[2]

[3]

2.4
[1]

Pf+Pr

Pf  10.000 (kN/m?)
Pr 15.000 (kN/m?)

= ) *Bj+*Bc+ A = 57.375 (kN)
Pf+2 « Pr ,
= ———  .Bj = 2. 448 (m)
3« (PT+Pr)
Bj Bj 4.590 (m)
Bc Bc 1.000 (m)
A A 1.000
)
(m (kN.m)
Ni Hi
(kN) (kN) Xi Yi Ni  Xi Hi  Yi
106.894 0.000 2.367 0.000 253.005 0.000
« ) 0.604 0.000 4.550 0.000 2.748 0.000
107.497 0.000 255.753 0.000
)
(m (kN.m)
Ni Hi
(kN) (kN) Xi Yi Ni  Xi Hi Yi
106.894 0.000 2.367 0.000 253.005 0.000
« ) 1.021 0.000 4.538 0.000 4.633 0.000
( ) 1.500 0.000 0.250 0.000 0.375 0.000
« ) 26.550 0.000 2.514 0.000 66.735 0.000
135.965 0.000 324.748 0.000
)
(m (kN.m)
Ni Hi
(kN) (kN) Xi Yi Ni Xi Hi Vi
106.894 0.000 2.367 0.000 253.005 0.000
( ) 0.604 0.000 4.550 0.000 2.748 0.000
107.497 0.000 255.753 0.000
( )

FORUMS8
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pl

p2=

Xp 4.589 m

yp 0.000 m

H 2.900 m

H1 1.400 m

H2 1.500 m

a 5.700 °

Yy s 18.000 kN/m?
(0] 30.000 °

B 0.000 °

o 30.000 °

cosz(([)—oa)
Z { Msin(¢+6)-sin(¢—ﬁjz
cosa *cos(a+0) * |1+
cos{a+06) *cos(a—p

cos?(30.00° —5.700° )

cos’5. 700°

1
X

+ cos(5.700° +30.000° )

. sin(30.00° +30.000° )

cos (5. 700° +30.000° )

0.3444
g K

3.000x 0.3444

K+ ys+Hl+pl

= 0.3444X18.000X1.4004+1. 033

= 0. 3444 X (19, 800—10. 000) X 1. 500+9, 711

9.711 kN/m?

K+ (ysat—yw) » H24p2

14773 kN/m?

1
— - (pl4+p2) -Hl = E§><< 1.0334+ 9.711) X 1.400 =  7.521 kN
1
— « (p2+p3) -H2 = E§><< 9.7014+ 14.773) X 1.500 = [8.363 kN
P1 P2 7.521 18.363 25.884 kN

+ sin(30.00° —0. 000°
+ cos (5. 700° —0. 000°

1.033 kN/m?

FORUMS8
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Ph

Pv

Ml=

M2=

y

P cos(a &) 25.884x cos( 5.700°  30.000° ) 21.020 kN

P sin(a &) 25.884x sin( 5.700°  30.000° ) 15.104 kN

2+pl+p2 H1
Ple |———— + —+H2
pl+p2 3
2X1.033+9.711 % 1. 400
1.033+9.711 3
15.132 kN.m
2+ p2+p3 H2
p2+p3 3

7.521X ( +1.500)

P2 |

2X9.711+14.773 _ 1.500
18. 363 X

X
9.711+14.773 3
12.817 kN.m

M1+M2 15. 132412. 817
= = 1.080 m
P1+P2 7.521+18. 363

Xp Ho tana 4.589 1.080x tan5.700° 4.482 m
yp Ho 0.000 1.080 1.080 m

J‘J/J/WWWWJ/J/J/WW¢¢\P\P\P¢¢¢¢¢

Xp 0.000 m
yp 0.000 m
H 1.000 m
H1 0.000 m
H2 1.000 m
a 0.000 °
ys 18.000 kN/m?®
¢ 30.000 °
B 0.000 °
0 20.000 °

FORUMS8
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cos’(¢p—a)

cos’a *cos(a+8)

cos’(30.00° —0.000° )

cos?0. 000° - cos(0.000° —+20.000° )
1

X

sin(¢ +6) -+
1+
X/cos(oa-i-ﬁ) .

jz

2
. sin(30.00° +20.000° ) + sin(30.00° —0.000°
cos (0. 000° +20.000° ) « cos(0.000° —0.000°

0.2973

pl g K  0.000x 0.2973  0.000 kN/m?

p2= K+ ys+Hl+pl
= 0.2973X18. 000X 0. 000+0. 000
0.000 kN/m?

p3= K+ (ysat—yw) - H2+p2
= (.2973 X (19. 800—10. 000) X 1. 0004 0. 000
2.914 kN/m?

1 1
Pl1= 5 « (pl+p2) -+ Hl = EX( 0.000+ 0.000) X 0.000

1
P2= — - (p2+p3) - H2 = EX( 0.000+ 2.914) X 1.000

P P1 P2 0.000 1.457 1.457 kN

Ph P cos(a &)

1.457x cos( 0.000°

Pv P sin(a &) 1.457x sin( 0.000°

2+pl+p2 HI
Ml= Pl |[—————— « —+H2
pl+p2 3
2X0.000+0.000 0.000
= 0.000X X +1. 000
0. 000+0. 000 3
0.000 kN.m

= 0.000 kN

= 1.457 kN

-1.369 kN

0.498 kN

FORUMS8



2+ p2+p3 H2
M2= P2« |———— + —
( p2+p3 3)
2X0.000+2.914 1. 000
= 1.457X
( 0.000+2.914 3 )
0.485 kN.m
M1+M2 0.000+0. 485
= = = 0.333 m
P1+P2 0.000+1. 457
X Xp Ho tana 0.000 0.333x tan0.000° 0.000 m
y yp Ho 0.000 0.333 0.333 m
[
[
1
[
[
| \
| \
| N | \
| N | \
oo N | {
2 N .
1.36% D 1 \
_______________________ J
[2] ( )
Xp 4.589 m
yp 0.000 m
H 2.900 m
H1 1.100 m
H2 1.800 m
a 5.700 °
Yy s 18.000 kN/m?
® 30.000 °
B 0.000 °
0 30.000 °
cosz((b —a)
K ==
sin(¢p+6) + sin(¢p — B8

2
cos’a *cos(a+98) « |1+
cos(a+9)

cos?(30.00° —5.700° )

ccos(a—f3

- 16 -

cos’5. 700° + cos(5.700° +30.000° )
% 1
sin(30. 00° +30.000° ) + sin(30.00° —0.000° '
[14—\/ cos (5. 700° +30.000° ) + cos(5.700° —0.000° j

0.3444

FORUMS8
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g K 0.000x 0.3444 0.000 kN/m?

= K+ ys-Hl+pl
= 0.3444X18. 000X 1. 100+0. 000

6.818 kN/m’

= K-+ (ysat—yw) *H2+p2
= 0. 3444 X (19. 800—10. 000) X 1. 800+6. 818

12.893 kN/m?

1 1
— + (pl4p2) +Hl = —X
5 (p1+p2) 5 (

1
— « (p2+p3) - H2 = EX(

P1 P2 3.750 17.740

0.000+ 6.818) X 1.100 =

6.818+ 12.893) X 1.800 =

21.490 kN

P cos(a &) 21.490x cos( 5.700°  30.000° )

P sin(a 3) 21.490x sin( 5.700°  30.000° )

2 pl+p2 Hl
P1 - (#-——FHZ)

pl+p2 3
2X0.000+6.818  1.100
3. 750X +1. 800
0. 000+6. 818 3
8.126 kN.m
2+ p2+p3 H2
P2 . # *« —
p2+p3 3
2X6.818+12.893  1.800
17. 740X X
6.818+12. 893 3
14.334 kN.m
M1-+M2 8. 126+ 14. 334
= = 1.045 m

P1+P2 3.750+17. 740

Xp Ho tana 4.589 1.045x tan5.700° 4.485 m

yp Ho 0.000 1.045

1.045 m

FORUMS8
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Xp 0.000 m
yp 0.000 m
H 1.000 m
H1 0.000 m
H2 1.000 m
o 0.000 °
ys  18.000 kN/m’
® 30.000 °
B 0.000 °
o 20.000 °
cos’(¢p —a)
K =
sin(¢ — B

sin(¢p +6) *
cos’a *cos(a+98) « |1+
cos(a+9) *

cos’(30.00° —0.000° )

cos?0. 000° - cos(0.000° +20.000° )
1

X

cos(a— 8

jz

2

{ +\/sin(30. 00° +20.000° ) - sin(30.00° —0.000° j
1

cos (0. 000° +20.000° ) + cos(0.000° —0.000°

0.2973

pl g K  0.000x 0.2973  0.000 kN/m?

p2= K+ ys+Hl+pl
= 0.2973X18. 000X 0. 000+0. 000
0.000 kN/m?

p3= K+ (ysat—yw) + H2+p2
= (.2973 X (19. 800—10. 000) X 1. 0004 0. 000
2.914 kN/m?

FORUMS8



[3]

1
Pl= 5 « (pl+p2) -H1l =

1
EX( 0.000+ 0.000) X 0.000 =

0. 000 kN
1 1
p2= 5 (p2+p3) - H2 = EX< 0.000+ 2.914) X 1.000 =  1.457 kN
P P1 P2 0.000 1.457 1.457 kN
Ph P cos(a &) 1.457x cos( 0.000°  20.000° ) -1.369 kN
Pv P sin(a 9d) 1.457x sin( 0.000°  20.000° ) 0.498 kN
2+pl+p2 Hl
Mi= pr o (2002 B
pl+p2 3
2X0.00040.000  0.000
= 0. 000X X +1. 000
0. 000+0. 000 3
0.000 kN.m
2+p2+p3 H2
MZ: P2 . pi—i_p *« ——
p2+p3 3
2X0.0004+2.914  1.000
= 1.457X X
( 0.000+2. 914 3 )
0.485 KN.m
M1-+M2 0. 000+0. 485
= = = 0.333 m
P1+P2 0.000+1. 457
X Xp Ho tana 0.000 0.333x tan0.000° 0.000 m
y yp Ho 0.000 0.333 0.333 m
N
| N
§ \\\
~1. 369 S
( )

- 19 -
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pl

p2=
= 0.3444X18. 000X 1. 400+1. 033

p3=
= 0. 3444 X (19. 800—10. 000) X 1. 500+9. 711

P1

P2

Ph

Xp 4.589 m

yp 0.000 m

H 2.900 m

H1 1.400 m

H2 1.500 m

a 5.700 °
y s 18.000 kN/m’
¢ 30.000 °

B 0.000 °

0 30.000 °

cos’(p—a)

sin(¢ +6) *» sin(¢p — B
cos’a *cos(a+98) |1+
[ X/cos(a-ﬁ-ﬁ)'cos(a—ﬁ

cos’(30.00° —5.700° )

cos®s. 700° - cos (5. 700° +30.000° )
1

X

jz

n sin(30. 00° +30.000° ) + sin(30.00° —0.000°
1
cos (5. 700° +30.000° ) + cos(5.700° —0.000°

0.3444
g K  3.000x 0.3444  1.033 kN/m?

K+ ys-+Hl+pl

9.711 kN/m?

K- (ysat—yw) « H2+p2

14.773 kN/m?

1
— -+ (pl+p2) - HI = EX( 1.033+ 9.711) X 1.400

1
— + (p2+p3) - H2 = EX( 9. 711+ 14.773) X 1.500

P1 P2 7.521 18.363 25.884 kN

P cos(a &) 25.884x cos( 5.700°  30.000° )

(

7.521 kN

18. 363 kN

21.020 kN

FORUMS8
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Pv

ML=

M2=

y

P sin(a &) 25.884% sin( 5.700°  30.000° ) 15.104 kN
2+pl+p2 HI
Pl (202
pl+p2 3
2X1.0334+9.711 1. 400
7.521X X +1. 500
1.033+9.711 3
15.132 kN.m
2+ p2
po . (2P2H+Dp3 H2
p2+p3 3
2X9,7114+14. 773 _ 1.500
18. 363 X X
( 9.711414. 773 3 )
12.817 kN.m
M1 +M2 15. 132+12. 817
= 1.080 m
P1+P2 7.521+18. 363
Xp Ho tana 4.589 1.080x tan5.700° 4.482 m

0.000 1.080

yp Ho 1.080 m

wawwwwwwww

Xp 0.000 m
yp 0.000 m
H 1.000 m
H1 0.000 m
H2 1.000 m
a 0.000 °
ys 18.000 kN/m?
[0} 30.000 °
B 0.000 °
0 20.000 °

FORUMS8
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cos’(¢p—a)

cos’a *cos(a+8)

cos’(30.00° —0.000° )

cos?0. 000° - cos(0.000° —+20.000° )
1

X

sin(¢ +6) -+
1+
X/cos(oa-i-ﬁ) .

jz

2
. sin(30.00° +20.000° ) + sin(30.00° —0.000°
cos (0. 000° +20.000° ) « cos(0.000° —0.000°

0.2973

pl g K  0.000x 0.2973  0.000 kN/m?

p2= K+ ys+Hl+pl
= 0.2973X18. 000X 0. 000+0. 000
0.000 kN/m?

p3= K+ (ysat—yw) - H2+p2
= (.2973 X (19. 800—10. 000) X 1. 0004 0. 000
2.914 kN/m?

1 1
Pl1= 5 « (pl+p2) -+ Hl = EX( 0.000+ 0.000) X 0.000

1
P2= — - (p2+p3) - H2 = EX( 0.000+ 2.914) X 1.000

P P1 P2 0.000 1.457 1.457 kN

Ph P cos(a &)

1.457x cos( 0.000°

Pv P sin(a &) 1.457x sin( 0.000°

2+pl+p2 HI
Ml= Pl |[—————— « —+H2
pl+p2 3
2X0.000+0.000 0.000
= 0.000X X +1. 000
0. 000+0. 000 3
0.000 kN.m

= 0.000 kN

= 1.457 kN

-1.369 kN

0.498 kN

FORUMS8
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2+ p2+p3 H2
M2= P2« |——————— « —
p2+p3 3

2X0.000+2.914  1.000
= 1.457X ( )

X
0.0004+2.914 3
0.485 KkN.m

M1+M2 0.000+0. 485

o = 0.333 m
P1+4+P2 0.000+1. 457

X Xp Ho tana 0.000 0.333x tan0.000° 0.000 m
y yp Ho 0.000 0.333 0.333 m

H 1.000 m

H1 0.000 m

H2 1.000 m

a 0.000 °
S 18.000 kN/m’
@ 30.000 °

B 0.000 °

o 2 3¢ 20.000 °

cos’( ¢+ )

{ X/sin(d>+6) - sin(¢ + B
cos’a *cos(a—98) + |1—

cos(ow—198) *cos(a—p

cos?(30.00° +0.000° )
cos®0. 000° - cos(0.000° —20.000° )

2

1
X

2
| sin(30.00° +20.000° ) - sin(30.00° +0.000°
cos (0. 000° —20.000° ) + cos(0.000° —0.000°

6.1054

pl g K  0.000x 6.1054  0.000 kN/m?

FORUMS8




p2= K+ ys+Hl+pl

= 6.1054X18. 000X 0. 000+0. 000
0.000 kN/m?

p3= K+ (ysat—yw) « H2+p2

6. 1054 X (19. 800—10. 000) X 1. 000-+0. 000
59.833 kN/m’

1
P1 o « (pl+p2) -+ Hl =

1
pP2= 5 « (p2+p3) - H2

P P1 P2 0.000 29.916 29.916 kN

Ph P cos(a &) 29.916x cos( 0.000°

1
EX( 0.000+ 0.000) X 0.000 =

1
EX( 0. 000+ 59.833) X 1.000

= 0.000 kN

29.916 kN

20.000° ) -28.112 kN

p L h?
ey
9 v
h
Y —_ —
3
Yy w (kN/m®), y w 10.000
h (m
(m
[1] ( )
o
| i
| |
| \
b
F1=1.500 I \ Fr=1.500
z -— P z
= | N ! : =
I AN | |
N | |
| \\ | \
\ | \
\\ | \\\
e J L
R L
_________________________________ L
15. 000 15. 000
h P v
(m (kN) @
1.500 -11.250 0.500

- 24 -

FORUMS8
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h P Y
m (kN) @)
1.500 11.250 0.500
[2] ( )
A
| 1
| 1
.
F1=1.800 P Fr=1.80
-2 . v
- . \ =
3.000 e Fi 3 900 : \
= 1 \
| \\ ] |
N | \
\\ | v
| S | ‘\
' N 4 r
i I
I
_________________________________ 1
18. 000 18. 000
h P y
m (kN) @)
1.800 -15.750 0.571
1.800 16.200 0.600
[31 ( )
m
| \
| i
| |
| \
| 1
| 1
. Fr=1.500
=== | : <~
N | 1 =
F1=1.000 | AN | !
v I N 1 \
= AN | }
\ | \
N | \
~_ | \
|
10.000 T TTTTTTTTTTTTTTTTTTTTTTTT 15. 000
h P y
(m (kN) @)
1.000 -5.000 0.333
1.500 11.250 0.500
2.5

FORUMS8
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PPHZZ FS‘ EH - ZV'f
Py : 7k¥}ijj (kN)
F. e
> H (kN/m?)
>V (kN/m*)
f f 0.577
Pp
E >H zV Per P,
: KN/ KN/ (kN) (kN)
1.500 27.270 65.725 2.982 28.112
2.6
€Y
[1] ( )
=__
i
s
b
|
|
|
z ——— | -
= | N ! : =
I N I /
I \\\ ! :
\ |
N |
\M _________________ 1 \
& .
| — - ———— - - - —— - -
(kN.m)
Ne (kN Hi (kN) X (m) Yo m M Ne X M HoYs
107.497 0.000 2.379 0.000 255.753 0.000
-68.850 0.000 2.295 0.000 -158.011 0.000
0.000 11.250 0.000 0.500 0.000 5.625
0.000 -11.250 0.000 0.500 0.000 -5.625
15.104 21.020 4.482 1.080 67.693 22.697
0.498 -1.369 0.000 0.333 0.000 -0.456
54.250 19.651 165.435 22.242

FORUMS8
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[2] )
[
|
b
|
|
z b z
r—— v : !
| N = 1
| \ |
I \ I |
\\ |
\ |
\ | \
\L _________________ |
N |
| — ——— e — _ _ _ —_— _
(KN.m)
Ne (kN Hi (kN) X (m) Yo M Ne X M HoYe
135.965 0.000 2.388 0.000 324.748 0.000
-82.620 0.000 2.295 0.000 | -189.613 0.000
0.000 16.200 0.000 0.600 0.000 9.720
0.000 | -15.750 0.000 0.571 0.000 ~9.000
12.540 17.452 4.485 1.045 56.245 18.240
0.498 ~1.369 0.000 0.333 0.000 ~0.456
66.383 16.533 191.380 18.504
[3] )
v
v
(KN.m)
Ne (kN Hi (kN) X (m) Yo m [ Me Ne X M HoY
107.497 0.000 2.379 0.000 255.753 0.000
-57.375 0.000 2.448 0.000 | -140.454 0.000
0.000 11.250 0.000 0.500 0.000 5.625
0.000 -5.000 0.000 0.333 0.000 ~1.667
15.104 21.020 4.482 1.080 67.693 22.697

FORUMS8
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(KN..m)
Ni (kN) Hi (kN) X (m) Yo m [ Me Ne X | Me HeoY
0.498 0.000 0.000 0.333 0.000 0.000
0.000 ~2.982 0.000 0.333 0.000 ~0.994
65.725 24.288 182.992 25.662
N, H, M,
(kN) (kN) (KN
( ) 54.250 19.651 143.194
( ) 66.383 16.533 172.876
( ) 65.725 24.288 157.330
@
. (kN)
c (kN)
. B, 2.0 M, (KN.m)
B, 4.590 Q)
| |
N, H M
kN (kN) (KN-m)
( ) 54.250 19.651 ~18.689
( ) 66.383 16.533 ~20.527
( ) 65.725 24.288 _6.491
= (5.000m)
N. H. M
(kN) (kN) (kN.m)
( ) 271.251 98.254 ~93.447
( ) 331.916 82.663 |  -102.635
( ) 328.626 |  121.442 ~32.453

FORUMS8
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2.7
. >Vu+ « ¢ Pv
° U
>z Vu (kN)
a a 0.500
Pv (kN)
U (kN)
2 Vu Pv U
(kN) (kN) (kN) f. f..
) 107.497 15.603 68.850 1.675 1.100
2.8
2.8.1
4 - 2Mr— XMt
Y
d (m
> Mr (kN.m)
> Mt (kN.m)
zV (kN)
B
e = ——d
2
(m
B (m), B 4.590
€. B n
€. (m)
n
2 Mr 2 Mt 2V d e €.
(kN.m) (kN.m) (kN) (m (m (m
) 165.435 22.242 54.250 2.640 0.345 0.765

FORUMS8
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2.8.2
F— 2V u+GC +B+Pr
o H
>V (kN)
S H (kN)
Y] , b 0.577
Cs (kN/m?), Cs 0.000
B (m), B 4.590
Pr
> V(kN) > H(kN) Pr (kN) Fs Fe
) 65.725 27.270 2.982 1.500 1.500
2.8.3
1) 1/3
Y 6e
= — 1+—
v (]
_ V(e
B B
2) 2/3
- 22V
3+ (B/2—e)
>V (kN)
B (m), B 4.590
e (m
[1] ( )
(kN/m?*)
(m) -
X B gmin gmax
4.590 8.617 20.308 200.000
|
2.604 .

L19°8

80€ "0

2.295

FORUMS8
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3
3.1
D
[1]
W y A
(kN/m?*)
24.500 x 0.500 12.250
24.500 x 1.500 36.750
24.500 x 0.300 7.350
24.500 x 0.590 14455
W N B
56.228 3.545
15.861 (KN/m?)
(kN)
(m
2)
W N L
(KN/m?)
(kN)
(m)
N L W
(kN) (m) (kN/m?)
26.550 2.500 10.620

FORUMS8
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3)
pl = Hf - Gw
pr = Hr - Gw
) pr — pl T1
"= (pl + X —|X
= o+ T T
pl — pr Tr
= + X — | X
pr (pr 3 5 Y
pl* pl pr* pr
pl (kN/m?)
pr (kN/m?)
pl” (kN/m?)
pr- (kN/m?)
HF (m)
Hr (m)
Tl m TI 1.500
Tr (m Tr 0.590
B (m) B 3.545
G (kKN/m*)  Gw 10.000
y Y 1.000
Hf Hr pl pr pl*® pr®
(m) (m) (KN/m?) (KN/m?) (KN/m?) (KN/m?)
1.500 1.500 15.000 15.000 15.000 15.000
1.800 1.800 18.000 18.000 18.000 18.000
1 + pl T1
Pl = LT Dy —x v
2 2
’ T
pr— Rt T
2 2
Pl (kN/m)
Pr (kN/m)
y Y 1.000
Pl Pr
(kN/m) (kN/m)
11.250 4.425
13.500 5.310
3.2
3.2.1
[1] ( )
)

FORUMS8




- 33 -

H 2.650 m
H1 1.400 m
H2 1.250 m
o 5.700 °
ys  18.000 kN/m’
) 30.000 °
B 0.000 °
5 20.000 °

cos’(p—a)

sin{(¢ +6) » sin(¢p — B 2
cos’a *cos(a+98) |1+
[ X/cos(a-ﬁ-ﬁ)'cos(a—ﬁj

cos’(30.00° —5.700° )

cos®s. 700° - cos (5. 700° +20.000° )
1

X

2
4 sin(30.00° +20.000° ) - sin(30.00° —0.000°
cos (5. 700° +20.000° ) - cos(5.700° —0.000°
0.3405

pl g K  3.000x 0.3405  1.021 kN/m?

p2= K+ ys+Hl+pl
= 0.3405X18. 000X 1. 400+ 1. 021
9.602 kN/m?

p3= K+ (ysat—yw) * H2+p2
= 0. 3405 X (19. 800—10. 000) X 1. 250+9. 602
13.773 kN/m?

ph p cos(a &)
pv p sin(a d)

(kN/m?) (KN/m?) (KN/?)
pl 1.021 0.920 0.443
p2 9.602 8.652 4.164
p3 13.773 12.410 5.973
1 1
Pl= 5 (p14+p2) <+ HL = E§><( 1.0214+ 9.602) X 1.400 =  7.436 kN

FORUMS8
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Ph

Pv

Phs

Pvs

Phs
Phl
Phu
Pvs
Pvi
Pvu

P1

1
« (p247p3) +H2 = E§><( 9.6024+ 13.773) X 1.250

P2 7.436 14.609 22.046 kN
cos(a o) 22.046x cos( 5.700°  20.000° )
sin(a 9) 22.046x sin( 5.700°  20.000° )
Phl Phu 23.061 19.865 3.197 kN
Pvl Pvu 11.099 9.560 1.538 kN
(kN)
(kN)
(kN)
(kN)
(kN)
(kN)
)
H 0.750 m
H1 0.000 m
H2 0.750 m
a 0.000 °
Yy s 18.000 kN/m’
@ 30.000 °
B 0.000 °
0 20.000 °

= 14.609 kN

19.865 kN

9.560 kN

FORUMS8
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cos’(¢p—a)

Sin(6 +0) -sin(6—B)
1+

cos(a+98) *cos(a—p
cos?(30.00° —0.000° )

cos?0. 000° - cos(0.000° —+20.000° )
1

cos’a *cos(a+8)

X

2
. sin(30.00° +20.000° ) + sin(30.00° —0.000°
cos (0. 000° +20.000° ) « cos(0.000° —0.000°
0.2973

pl g K  0.000x 0.2973  0.000 kN/m?

p2= K+ ys+Hl+pl
= 0.2973X18. 000X 0. 000+0. 000
0.000 kN/m?

p3= K+ (ysat—yw) - H2+p2
= (.2973 X (19. 800—10. 000) X 0. 7504 0. 000
2.185 kN/m?

ph p cos(a &)
pv p sin(a o)

(KN/m) (kN/1TP) (kN/1TP)

pl 0.000 0.000 0.000
p2 0.000 0.000 0.000
p3 2.185 2.053 0.747
1 1
Pl= 5 (pl4+p2) -+ HL = E§><< 0.0004+ 0.000) X 0.000 =  0.000 kN
1 1
p2= 5 (p2+p3) *H2 = E§><< 0.0004+ 2.185) X 0.750 =  0.819 kN

P P1 P2 0.000 0.819 0.819 kN

Ph P cos(a &) 0.819x cos( 0.000°  20.000° ) 0.770 kN

FORUMS8
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P P sin(a 3) 0.819x sin( 0.000°  20.000° ) 0.280 kN

Phs Phi Phu 1.369 0.770 0.599 kN

Pvs Pvl Pvu 0.498 0.280 0.218 kN

Phs (kN)

Phl (kN)

Phu (kN)

Pvs (kN)

Pvl (kN)

Pvu (kN)

[2] ( )
« )

H 2.650 m
H1 1.100 m
H2 1.550 m
a 5.700 °
Yy s 18.000 kN/m?
[0} 30.000 °
B 0.000 °
o 20.000 °

cos’(¢p — )

sin(¢ +6) * sin(¢p — B 2
cos’a *cos(a+9d) « |1+
{ X/cos(a-ﬁ-ﬁ)'cos(a—ﬁj

cos’(30.00° —5.700° )

cos®s. 700° - cos(b. 700° +20.000° )
1

X

i+ sin(30. 00° +20.000° ) + sin(30.00° —0.000° 2
cos (5. 700° +20.000° ) + cos(5.700° —0.000°
0.3405

pl g K  0.000x 0.3405  0.000 kN/m?

p2= K+ ys+Hl+pl
= 0.3405X18. 000X 1. 100+0. 000
6.742 kN/m?

FORUMS8
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p3= K-+ (ysat—yw) * H2+p2
= 0. 3405 X (19. 800—10. 000) X 1. 550+6. 742
11.914 kN/m?

ph p cos(a &)
pv p sin(a o)

(KN/1) (KN/) (KN/)

pl 0.000 0.000 0.000
p2 6.742 6.075 2.924
p3 11.914 10.735 5.167
1 1
Pl= 5 (p1+p2) +HL = E§><< 0.0004+ 6.742) X 1.100
1 ] 1 ) i ,
p2= 5 (p2+p3) +H2 = E?><( 6. 7424 11.914) X 1.550

P P1 P2 3.708 14.458 18.166 kN

Ph P cos(a &) 18.166x cos( 5.700°  20.000° )

Pv P sin(a &) 18.166x sin( 5.700°  20.000° )

Phs Phl Phu 19.147 16.369 2.778 kN

Pvs Pvl Pvu 9.215 7.878 1.337 kN

Phs (kN)

Phl (kN)

Phu (kN)

Pvs (kN)

PVl (kN)

Pvu (kN)

« )

H 0.750 m
H1 0.000 m

3.708 kN

14. 458 kN

16.369 kN

7.878 kN

FORUMS8
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H2 0.
a 0
Yy S 18
0] 30.
B 0
0 20.

cosz(([)—oa)

750 m

.000 °
.000 kN/m’

000 °

.000 °

000 °

K fr—
2
sin(¢+6) + sin(¢p — B8
cos’a *cos(a+6) |1+
cos(aw+6) *cos(a—1R
cos’(30.00° —0.000° )
cos?0. 000° - cos(0.000° +20.000° )
1
X
| [5in(30.00" 20,000 ) - sin(30.06" 0. 000 '
1
cos (0. 000° 4+20.000° ) * cos(0.000° —0.000°
0.2973
pl g K 0.000x 0.2973 0.000 kN/m?
p2= K+ ys - Hl+pl
= (.2973X18. 000X 0. 000+0. 000
0.000 kN/m?
p3= K+ (ysat—yw) + H2+p2
= 0.2973 % (19. 800—10. 000) X 0. 7504+ 0. 000
2.185 kN/m?
ph p cos(a )
pv p sin(a &)
KN/ KN/ KN/
pl 0.000 0.000 0.000
p2 0.000 0.000 0.000
p3 2.185 2.053 0.747
1 1
P1= E « (pl+p2) +Hl = EX( 0.0004+ 0.000) X 0.000 = 0. 000 kN
1 1
P2= E « (p247p3) +H2 = EX( 0.0004+ 2.185) X 0.750 = 0.819 kN

FORUMS8



P P1 P2 0.000 0.819 0.819 kN

Ph P cos(a &) 0.819x cos( 0.000°  20.000° )

0.770 kN
Pv P sin(a &) 0.819x sin( 0.000°  20.000° ) 0.280 kN
Phs Phl Phu 1.369 0.770 0.599 kN
Pvs Pvl Pvu 0.498 0.280 0.218 kN
Phs (kN)
Phl (kN)
Phu (kN)
Pvs (kN)
Pvl (kN)
Pvu (kN)
3.2.2
pi = hi - Gw
pi (kN/m?)
hi (m)
Gw (KN/m*)  Gw 10.000
i T
po — ot pi T
2 2
Po (kN/m)
po (kN/m?)
T (m T 0.500
[1]
il
by
| \
| |
| 1
.
F1=1.500 | \ Fr=1.500
z g——« . Z
| \\\ : \| =
N | i
| N | ‘\
J \\ : !
/i N J \,
P1=3.438 1 L Pr=—3. 438
12.500 | !

FORUMS8




hi pi ho po Po
(m) (KN/m?) (m) (KN/m?) (kN/m)
1.250 12.500 1.500 15.000 3.438
1.250 12.500 1.500 15.000 3.438
[2]
A
| 1
| \
b
F1=1.800 : \ Fr=1.800
Z b 2
= i=0. \ =
3.000 ______ F §900 ! \\
/A * .
1 AN o
! N | \
| N |
I \ i \
7 N A J L
Pl=4.187 I | Pr=-4.187
15.500 | | -15.500
hi pi ho po Po
(m (kN/?) (m (kN/m?) (kN/m)
1.550 15.500 1.800 18.000 4.187
1.550 15.500 1.800 18.000 4.187
3.2.3
1)
Mo
d = —
\
B
e = — — d
2
2) 1/3
V be
gmax = — * |[1+—
B B
) V ! be
min = — * [1——
d B B
3) 2/3
2V
gmax =
3+ (B/2—e¢)
gmin = 0.0

- 40 -

FORUMS8
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v (kN)
Mo - (kN.m)
d (m)
e (m)
gl (kN/m?)
qr (kN/m?)
0.0 gl gmax qr gmin
0.0 gl gmin qr gmax
B (m) B 3.545
v Mo d e ql qr
(kN) (kN.m) (m) (m) (kN/m?) (kN/m?)
61.115 111.233 1.820 -0.048 15.853 18.627
gh =
H (kN)
H gh
(kN) (KN/m?)
20.608 5.813

FORUMS8
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3.2.4

[1]

m ) (KN/m) (KN/m)
0.000 1.000 |  12.250 36.750
0.000 2.400 7.350 14.455
0.000 3.545 |  15.861 15.861

m m (KN/m) (KN/m)
0.500 0.750 0.000 0.747
1.250 0.000 0.218 0.000
0.000 1.400 | -0.920 -8.652
0.000 1.400 0.443 4.164
1.400 1.250 |  -8.652 ~12.410
1.400 1.250 4.164 5.973
2.650 0.000 | -3.197 0.000
2.650 0.000 1.538 0.000
0.500 0.750 0.000 13.055
1.250 0.000 3.808 0.000
0.500 0.750 0.000 7.500
1.250 0.000 2.188 0.000
1.400 1.250 0.000 ~12.500
2.650 0.000 |  -3.438 0.000

m m (KN/m) (KN/m)
0.000 3.545 | -10.817 ~14.679
0.000 0.000 | -7.806 0.000
3.545 0.000 | -4.378 0.000

m m (KN/m) (KN/m)
0.000 3.545 | -15.853 -18.627
0.000 3.545 5.813 5.813

FORUMS8
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3.2.5
[1] ( )
D
0.571 ~\16. 622
2)
3.42@% ~-1-21. 856
3)

24.625ﬁxﬁ—~—~"’”‘””“ﬂ’__~'ﬂ ------- \34. 278

FORUMS8




- 44 -

3.2.6
1)
oy 200 [As + (x—d)}=0.0
b
L oxERDB,
M
0. —
b-x h x (x—d) « (h,/2—d)
———|+n-As -
2 2 3) X
d—x
O: — n [0 P
X
X (mm)
h (mm)
b (mm) b 1000.000
d (mm)
As (mm*)
n n 15.00
e (mm)
gcC (N/mm?)
oS (N/mm?)
M (N.mm)
2)
S
Tho = : é T a1
b-d
L (N/mm?)
S, )
(mm)
b (mm)
T (N/mm?)
[1]
1)
W
1 <>
= [ : mm]
S m

FORUMS8



- 45 -

(cm) @/ ) (cm?)
1" — —
2" | —— —
1 7.0 D10 0.713 8.00 5.706
> | ] =
1.879 (cm?)
2)
( )
M kN.m 16.622 15.464
N kN E— —_—
S kN 21.856 22.229
B mm 1000.0 1000.0
H mm 590.0 590.0
d mm 520.0 520.0
A, cm’ 5.706 5.706
A” cm’ 0.000 0.000
X mm 86.210 86.210
o. N/mm? 0.786 0.731
0 N/mm? 8.000 8.000
o o
(o N/mm? 59.289 55.159
0« N/mm? 176.000 176.000
o o
1 N/mm’ 0.042 0.043
T a N/mm? 0.420 0.420
o o
[2]
1)
W
! 2 (B4 mm]
s

FORUMS8
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(cm) @/ ) (cm?)
1| — —
2| — —
1 7.0 D6 0.317 8.00 2.534
2 | — | —
0.129 (cm?)
2)
( )
M kN_m 3.224
N kN E—
S kN 8.342
B mm 1000.0
H mm 1500.0
d mm 1430.0
A cm’? 2.534
A" cm? 0.000
X mm 100.525
o. N/mm? 0.046
0 N/mm? 8.000
o
o- N/mm? 9.111
0w N/mm? 176.000
@]
T N/mm? 0.006
Ta N/mm? 0.420
o
3.3
3.3.1
[11 ( )
« )
H 2.650 m
H1 1.400 m
H2 1.250 m
a 5.700 °

Y s 18.000 kN/m®

FORUMS8
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(0] 30.000 °
B 0.000 °
o) 30.000 °
cos’(¢p—a)
K pr—
2
sin(¢ +6) *» sin(¢p — B
cos’a *cos(a+98) « |1+
cos(a+98) *cos(a—1R
B cos?(30.00° —5.700° )
cos?s, 700° - cos (5. 700° —+30.000° )
1
X
2
L+ sin(30.00° 430.000° ) - sin(30.00° —0.000°
cos (5. 700° 4+30.000° ) » cos(5.700° —0. 000°
0.3444
pl g K 3.000x 0.3444 1.033 kN/m?

p2= K+ ys+Hl+pl
= 0.3444X18. 000X 1. 400+1. 033
9.711 kN/m?

p3= K+ (ysat—yw) - H2+p2
= 0. 3444 X (19. 800—10. 000) X 1. 250+9. 711
13.930 kN/m?

ph p cos(a &)
pv p sin(a o)

(kN/m?) (KN/m?) (KN/?)
pl 1.033 0.839 0.603
p2 9.711 7.886 5.667
p3 13.930 11.312 8.128
1 1
Pl= 5 (pl4+p2) - HL = E§><< 1.0334+ 9.711) X 1.400 =
1 1
p2= 5 (p2+p3) +H2 = E§><< 9.7114 13.930) X 1.250 =
P P1 P2 7.521 14.775 22.296 kN

7.521 kN

14. 775 kN

FORUMS8
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Ph

Pv

Phs

Pvs

pl

Phs
Phl
Phu
Pvs
Pvl
Pvu

P cos(a &) 22.296x cos( 5.700°  30.000° ) 18.106 kN
P sin(a &) 22.296x sin( 5.700°  30.000° ) 13.011 kN
Phl Phu 21.020 18.106 2.914 kN
Pvl Pvu 15.104 13.011 2.094 kN
(kN)
(kN)
(kN)
(kN)
(kN)
(kN)
)
H 0.750 m
H1 0.000 m
H2 0.750 m
a 0.000 °
y s 18.000 kN/m’
@ 30.000 °
B 0.000 °
o) 20.000 °
cos’(p —a)
sin(¢ +6) *sin(¢p — B 2
cos’a *cos(a+98) « |1+
cos(a+98) *cos(a—R

cos’(30. 00 —0.000° )

cos?0. 000° - cos(0.000° +20.000° )
1

X

+ sin(30.00° —0.000°

. sin(30.00° +20.000° )
cos (0. 000° +20.000° )

0.2973

+ cos (0.

0.000x 0.2973 0.000 kN/m?

g K

000° —0. 000° j

FORUMS8
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20.000° )

20.000° )

p2= K+ ys+Hl+pl
= 0. 2973 X 18. 000X0. 000+0. 000
0.000 kN/m?
p3= K+ (ysat—yw) « H2+p2
= (.2973 X (19. 800—10. 000) X 0. 7504 0. 000
2.185 kN/m?
ph p cos(a &)
pv p sin(a o)
(kN/n) (KN/) (KN/)
pl 0.000 0.000 0.000
p2 0.000 0.000 0.000
p3 2.185 2.053 0.747
1 1
P1= E;- (p1+p2) +Hl = E;><( 0.0004+ 0.000) X 0.000
1 1
p2= 5 (p2+p3) +H2 = EX< 0.000+ 2.185) X 0.750
P P1 P2 0.000 0.819 0.819 kN
Ph P cos(a &) 0.819x cos( 0.000°
Pv P sin(a d) 0.819x sin( 0.000°
Phs Phl Phu 1.369 0.770 0.600 kN
Pvs Pvl Pvu 0.498 0.280 0.218 kN
Phs (kN)
Phl (kN)
Phu (kN)
Pvs (kN)
Pvl (kN)
Pvu (kN)

0. 000 kN

0.819 kN

0.770 kN

0.280 kN

FORUMS8
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[2]

pl

p2=

p3=

( )
)
H 2.650 m
H1 1.100 m
H2 1.550 m
o 5.700 °
VS 18.000 kN/m?*
@ 30.000 °
B 0.000 °
o 30.000 °
cosz(d) —a)
sin(¢ — B

, sin(¢p +6) -
cos’a *cos(a+6) |1+
cos(a+9) *

cos?(30.00° —5.700° )

cos’5. 700°  + cos(5.700° +30.000° )
1

X

cos(a— 8

jz

+ sin(30.00° —0.000°

. sin(30.00° +30.000° )
cos (5. 700° +30.000° )

0.3444

qg K 0.000x 0.3444 0.000 kN/m?

K+ ys-+Hl+pl
0. 3444 X 18. 000 X 1. 100+0. 000
6.818 kN/m?

K+ (ysat— yw) » H24p2
0. 3444 % (19. 800—10. 000) X 1. 550+6. 818
12.049 kN/m?

ph p cos(a )
pv p sin(a &)

(KN/1T) (KN/1) (KN/1)
pl 0.000 0.000 0.000
p2 6.818 5.537 3.979
p3 12.049 9.785 7.031

+ cos (5. 700° —0. 000°

T

FORUMS8
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1
Pl= — « (pl4+p2) -+ Hl = EX( 0.000+ 6.818) X 1.100 =  3.750 kN

1
P2= — -« (p2+p3) - H2 = EX< 6.8184+ 12.049) X 1.550 = 14.622 kN

P P1 P2 3.750 14.622 18.372 kN

Ph P cos(a &) 18.372x cos( 5.700°  30.000° ) 14.920 kN

P P sin(@ 8) 18.372x sin( 5.700°  30.000° ) 10.721 kN

Phs Phl Phu 17.452 14.920 2.532 kN

Pvs Pvl Pvu 12.540 10.721 1.819 kN

Phs (kN)

Phl (kN)

Phu (kN)

Pvs (kN)

Pvl (kN)

Pvu (kN)

«

H 0.750 m
H1 0.000 m
H2 0.750 m
a 0.000 °
S 18.000 kN/m’
(0] 30.000 °
B 0.000 °
0 20.000 °

FORUMS8



- B2 -

cos’(¢p—a)

Sin(6 +0) -sin(6—B)
1+

cos(a+98) *cos(a—p
cos?(30.00° —0.000° )

cos?0. 000° - cos(0.000° —+20.000° )
1

cos’a *cos(a+8)

X

2
. sin(30.00° +20.000° ) + sin(30.00° —0.000°
cos (0. 000° +20.000° ) « cos(0.000° —0.000°
0.2973

pl g K  0.000x 0.2973  0.000 kN/m?

p2= K+ ys+Hl+pl
= 0.2973X18. 000X 0. 000+0. 000
0.000 kN/m?

p3= K+ (ysat—yw) - H2+p2
= (.2973 X (19. 800—10. 000) X 0. 7504 0. 000
2.185 kN/m?

ph p cos(a &)
pv p sin(a o)

(KN/m) (kN/1TP) (kN/1TP)

pl 0.000 0.000 0.000
p2 0.000 0.000 0.000
p3 2.185 2.053 0.747
1 1
Pl= 5 (pl4+p2) -+ HL = E§><< 0.0004+ 0.000) X 0.000 =  0.000 kN
1 1
p2= 5 (p2+p3) *H2 = E§><< 0.0004+ 2.185) X 0.750 =  0.819 kN

P P1 P2 0.000 0.819 0.819 kN

Ph P cos(a &) 0.819x cos( 0.000°  20.000° ) 0.770 kN

FORUMS8




Pv P sin(a &)

0.819x sin( 0.000°  20.000° ) 0.280 kN
Phs Phl Phu 1.369 0.770 0.600 kN
Pvs Pvl Pvu 0.498 0.280 0.218 kN
Phs (kN)
Phl (kN)
Phu (kN)
Pvs (kN)
pvl (kN)
Pvu (kN)
3.3.2
pi = hi - Gw
pi (kN/m?)
hi (m)
Gw (KN/m®)  Gw 10.000
po = B0l T
2 2
Po (kN/m)
po (kN/m?)
T (m T 0.500
[1]
il
by
| 1
| |
| 1
n
F1=1.500 | ! Fr=1.500
v — o 3
= | \\ | \‘ =
N | i
| N | ‘\
ég “ o
| N a \
P1-3.438 1 L Pr=—3. 438
iz.so0 1 12,500

- 53 -

FORUMS8



hi pi ho po Po
(m) (KN/m?) (m) (KN/m?) (kN/m)
1.250 12.500 1.500 15.000 3.438
1.250 12.500 1.500 15.000 3.438
[2]
A
| 1
| \
b
F1=1.800 : \ Fr=1.800
Z b 2
= i=0. \ =
3.000 ______ F §900 ! \\
/A * .
1 AN o
! N | \
| N |
I \ i \
7 N A J L
Pl=4.187 I | Pr=-4.187
15.500 | | -15.500
hi pi ho po Po
(m (kN/?) (m (kN/m?) (kN/m)
1.550 15.500 1.800 18.000 4.187
1.550 15.500 1.800 18.000 4.187
3.3.3
1)
Mo
d = —
\
B
e = — — d
2
2) 1/3
V be
gmax = — * |[1+—
B B
) V ! be
min = — * [1——
d B B
3) 2/3
2V
gmax =
3+ (B/2—e¢)
gmin = 0.0

- 54 -

FORUMS8
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v (kN)
Mo - (kN.m)
d (m)
e (m)
gl (kN/m?)
qr (kN/m?)
0.0 gl gmax qr gmin
0.0 gl gmin qr gmax
B (m) B 4.590
v Mo d e ql qr
kN) (kN.m) (m) (m) (KN/m%) (kN/m*)
65.725 157.330 2.394 -0.099 12.471 16.168
, qr — ql T1
I’'=ql + ————X —
q q B 5
, gl — qr Tr
ar ar B 5
AL, EBROED HLRIHHHEIE ol =ql, qr’ =qr
LB
q 5
ql” (kN/m?)
qr- (kN/m?)
gh (kN/m?)
Tl m TI 1.500
Tr (m Tr 0.590
(kN)
(m) B 3.545
gql* qr-" H gh
(KN/m) (KN/m?) (kN) (kN/m?)
13.075 15.930 24.289 6.852
1 b
g - dtd 1
2 2
o = gr + qr’ y Tr
2 2
ol (kN/m)
Qr (kN/m)
al Qr
(kN/m) (kN/m)
9.580 4.735

FORUMS8
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3.3.4

[1]

== L3
 ———s

m m (kN/m) (kN/m)
0.000 1.000 12.250 36.750
0.000 2.400 7.350 14.455
0.000 3.545 15.861 15.861

m m (KN/m) (KN/m)
0.000 0.000 0.604 0.000

m 0 (KN/m) (KN/m)
0.500 0.750 0.000 0.747
1.250 0.000 0.218 0.000
0.000 1.400 -0.839 -7.886
0.000 1.400 0.603 5.667
1.400 1.250 -7.886 -11.312
1.400 1.250 5.667 8.128
2.650 0.000 -2.914 0.000
2.650 0.000 2.094 0.000
0.500 0.750 0.000 4.472
1.250 0.000 1.304 0.000
0.500 0.750 0.000 7.500
1.250 0.000 2.188 0.000
1.400 1.250 0.000 ~12.500
2.650 0.000 -3.438 0.000

m 0 (kN/m) (KN/m)
0.000 3.545 | -10.817 -14.679
0.000 0.000 -7.806 0.000
3.545 0.000 -4.378 0.000

FORUMS8
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0 0 (kN/m) (kN/m)
0.000 3.545 | -13.075 | -15.930
0.000 0.000 |  -9.580 0.000
3.545 0.000 | -4.735 0.000
0.000 3.545 6.852 6.852

FORUMS8
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3.3.5

[1]

D

M\aom.mﬁ

-1L6L "9-

HB16 "G

2)

0TS 01—

3)

6¥¢ 0€

--19¢1 0%

-10¢T €1

FORUMS8



3.3.6

J
1 1 2 2
1)
1 2 3
0.750 | 1.773 | 3.250
2)
1 2’
0.250 | 3.295
€))
9.
x:4 bn {AS . (X_CD}:OO
L oxERDS,
M
0 b-x h x (x—d) » (h/2—d)
———|+n S *
> [l :
d—x
;s — n g, °*
X
. ()
h (mm)
b (mm) b 1000.000
d (mm)
As (mm?)
" n 15.00
: (nm)
oc (N/mm?)
0s (N/mm?)
M (N.mm)
t - 0.750(m), 2.795(m)
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FORUMS8
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1)
+ m
v g
! 3
= [Bf7 : mm]
T &
(cm) (cm’/ ) (cm?)
1" 10.0 D10 0.713 8.00 5.706
2" — —
1 10.0 D10 0.713 8.00 5.706
2 PR -
0.863 (cm?)
2)
( )
M kN.m -5.919
N kN E—
S kN E—
B mm 1000.0
H mm 500.0
d mm 400.0
A, cm’ 5.706
A" cm’ 0.000
X mm 74.646
o. N/mm? 0.423
O « N/mm? 8.000
o
o N/mm? 27.649
(o 0 N/mm? 176.000
o
[2] [2] 1.773(m), 1.773(m)

FORUMS8
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1)
+ m
v g
! 3
= [Bf7 : mm]
T &
(cm) (cm’/ ) (cm?)
1" 10.0 D10 0.713 8.00 5.706
2" — —
1 10.0 D10 0.713 8.00 5.706
2 PR -
0.993 (cm?)
2)
(
M kN.m -6.797
N kN E—
S kN E—
B mm 1000.0
H mm 500.0
d mm 400.0
A, cm’ 5.706
A" cm’ 0.000
X mm 74.646
o. N/mm? 0.486
O « N/mm? 8.000
o
o N/mm? 31.750
(o 0 N/mm? 176.000
o
[31 [3] 3.250(m), 0.295(m)

FORUMS8
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1
+ m
1 g
T m|
(cm) (cni/ ) (cm?)
1" — —
2| — —
1 10.0 D10 0.713 8.00 5.706
9 | |
2.185 (cm?)
2)
(
M kN.m 14.762
N kN E—
S kN E—
B mm 1000.0
H mm 500.0
d mm 400.0
A cm? 5.706
A” cm? 0.000
X mm 74.646
o N/mm? 1.055
(o8 N/mm? 8.000
O
o- N/mm? 68.959
(o8 N/mm* 176.000
o

[BfL : mm]

FORUMS8
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®
Ty = S.h p = ot
T, (N/mm?)
Sh (N)
d (mm)
b (mm)
Ta
[1] [1] 0.250(m),
( )
M kN.m
N kN
S kN 11.044
B mm 1000.0
H mm 500.0
d mm 400.0
T N/mm? 0.028
T a N/mm? 0.420
o
[2] [2] 3.295(m),
( )
M kN.m
N kN
S kN 24.171
B mm 1000.0
H mm 500.0
d mm 400.0
1 N/mm? 0.060
T a N/mm? 0.420
@]

3.295(m)

0.250(m)

(N/mm?)

FORUMS8
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